



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{3}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{3} =$$



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{3}{5}\right) + \frac{1}{2} = \left(-\frac{1}{10}\right)$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} = \frac{3}{10}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{75}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{149}{375}$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{6}\right) = \left(-\frac{37}{750}\right)$$

$$\left(\frac{1}{2}\right)^3 + \frac{3}{5} = \frac{29}{40}$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{6}\right) = \frac{29}{192}$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{17}{500}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{4} = \left(-\frac{13}{18}\right)$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{1}{5}\right)^2 - \frac{2}{5} = \left(-\frac{9}{25}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{13}{40}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{5}\right) = \frac{29}{80}$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{3}{5}\right) = \frac{13}{30}$$

$$\left(-\frac{1}{4}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{3} = \left(-\frac{122}{375}\right)$$